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Questions

Brush like arrangement of its conidia characteristic of.

Alternaria is an example of.

Members of Basidiomycota are commonly called.

is the largest group of fungi.

Each ascus comprise ascospores.

The most common rust fungi are.

The most common fungi are.

All fungal nuclei are haploid except for transient diploid.

The group of fungi in which sexual reproduction has not been observed.

Sexual reproduction is absent in

Asexual reproduction in yeast occurs by.

One of the following retrodictive cells structures are asexual

Unicellular yeasts reproduce by.

In fungi spores are produced inside the reproductive structure called.

Which one is an example of foliose lichens.

Answers Choice

A. Rhyisopues
B. Penicillium
. Ustilago
Agrees

Zygomycota
Ascomycota

. Basidomycota

. Deuteromy cota

. splitting fungi
Moreis
Mushrooms
Molds

. Basidiomycota
Ascomycota
Zygomycota
Deuteromycota
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Ustilago
Puccinia

. Penicillium
Yeast

Ustilago
Mosses
Anglo sperms
Gymnosperm

spores
Zygota
Conidia
Zygospores

Ascomycota
. Deuteromycota
Basidiomycota
. Zygomycota

Deuteromycota
Ascomycota
Basidiomycota
. Zygomycota

Conidia
Fragmentation
Budding
. Resting spores

. Basidiospores
Conidia
Zygospores
Ascospores

Spores

. Binary fission
Budding
Fragmentation

Conidia

. sporangia
Ascocarps
Basida

Ramalina
Bacidia

. Lecanora
. Permelia
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Parasitic fungi directly absorb nutrients from living host by

Parmella is an example of.

B. Roots
C. Rhizoids
D. Gametangia

A. Fruticose lichen

C. Crustose lichen
D. Moss lichen



